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1 point for answer; 1 point for reasonable

work; 1 point for using properties of

operations correctly

8.a a+n+2a+10

b. Possible answer: First, use the
commutative property of addition to
move 2a to the left of n,
a+n+2a+10=a+2a+n+10.Then
combine like terms to simplify as
shown below.
a+n+2a+10=a+2a+n+10

=3a+n+10

10. Laura did not distribute the negative sign

to 12y when evaluating —4(2x + 3y).
Using the distributive property,

—4(2x+3y) = -8x— 12y

120 18y - 4(2x + 3y) =

12x— 18y - 8x— 12y

Use the commutative property to move
—8x to the left of ~18y. Then combine

like terms.

12x-18y —8x—12y =12x—8x—18y —12y
x-30y

Rubric
1 point for identifying error; 1 point for
correcting error; 1 point for correct
equivalent expression; 1 point for
reasonable work
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6.EE.3

SELECTED RESPONSE Select all correct answers.

Select the correct answer. 5. The expression (y + 14x) - 5x - X is.

1. Which expression is equivalent to
12x-3x7
@ x(12-3)
® 8x
@© 3(3x-%)
[OF]
2. What property is used to say that the

expression 5x + 7 - 2xis equivalent to
the expression 5x - 2x+77

@ Commutative property of addition

(B> Commutative property
of multiplication

(© Associative property of addition
(@ Distributive property
3. What expression is equivalent to the
expression (1+4x) +2x7
®7x
® 5x+20
© 1+6x
@ x4+2)
4. The expression 11x* - 6y + 2xC is

simplified as follows. Which property is
NOT used to simplify the expression?

simplified as follows. Which properties

of operations are used to simplify

the expression?

(y+14x)-5x— 32 =y +(14x-5x) - %
=y+x(14-5)-x*
—y+x©)-2
—ysox-x

(& Commutative property of addition

(B> Commutative property
of multiplication

(© Associative property of addition
(B> Associative property of multiplication
(B Distributive property
CONSTRUCTED RESPONSE
6. a. Use the distributive property to write
23y - (Tx - 2y) + x without
parentheses.

b. Use the commutative property of
addition to collect like terms.
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11¢ -6y +2x°

X(13)-6y
3x° -6y
@ Commutative property of addition

(B> Commutative property of
multiplication

(© Associative property of multiplication
(@ Distributive property

c. Simplify the resuit from part b.

7. Simplify the expression (2x +3y) + y
using the properties of operations. Show
‘your work
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8. Amy is buying fruit for a party she is
having. She buys the fruit over a 3-day
period. The first day, she buys a apples
and n nectarines. The second day, she
buys twice as many apples as she bought
the first day. On the third day, she buys
10 bananas.

a. Write an expression for the total
number of pieces of fruit Amy buys.
Do not simplify.

9. Arectangular prism has length a, width b,

and height c.

a. Using the formula A= w . find the
area of each face of the prism and
write an expression for the sum of
the areas. Collect like terms, and
then use the distributive property to
simplify the expression o that there
are three terms inside the
parentheses. Show your work.

b. Explain how to use the order of
operations to simplify the expression
Show your work.

b. Use the result from part a to write an
expression for the total surface area
of a cube with side length a. Use the
properties of operations to simplify
the expression to one term. Show
your work
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10. Laura mistakenly found that the expression 4x - 6y is equivalent to the expression
12X — 18y — 4(2x + 3y). Her work is shown. Find and correct Laura's mistake. Use the.
properties of operations to correctly simplify 12x — 18y - 4(2x + 3y) to two terms.
‘Show your work
12x—18y - 4(2x+3y)=12x— 18y —8x+ 12y Distributive property

=12x-8x-18y +12y ‘Commutative property of addition
=4x-6y Combine like terms.
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6.EE.3 Answers
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A
A
c
c
B,C.E
a
23y —(Tx—2y)+ x= 23y ~Tx—(-2)+ X

2y -Tx+2y+x
b. 23y - TxX+2y +x=23y+ 2y~ Tx+x
€. 23y +2y—Tx+x=25y—6x
Rubric
a. 1 point
b. 1 point
c. 1 point
Possible answer: Use the associative
property of addition to move the
parentheses to the right, and then
combine like terms.
(2x+3y)+y =2x+(@3y+Y)

=2x+(4y)

=2x+4y

Rubric

Rubric

a. 1 point

b. 1 point for answer; 1 point for
reasonable work; 1 point for explaining
use of properties of operations

9.a. Areas of faces: ac, ac, be, bc, ab, ab
A=ac+ac+bc+be+ab+ab
=2ac+2bc +2ab
=2(ac+bc+ab)

b. Substitute a for b and ¢ in the
expression 2(ac + bc + ab)
A=2(ac+bc +ab)

=2a-a+ta-a+a-a)
=2Aa*+a’+a?)
=2(3a%)

=233

=6a°

Rubric

a. 1 point for areas; 1 point for
expression; 1 point for
reasonable work

b. 1 point for answer; 1 point for
reasonable work




